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OR (3121a1)

Compare among long term scheduler, short term
scheduler and medium term scheduler.
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3re <H wsyYerk vd W o dsyer

8. Explain the concept of CPU scheduling. Discuss
any two scheduling method with example and

compare them.
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OR(37214T)

Write short notes on the following
(a) Critical section
(b) Semaphore
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Time : 3Hrs. Sem. III - C.S.E.
O.S.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.
9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (3121d1)
Enlist and explain race conditions among different
process.

faftr=1 yraw & 9= 4 39 sfseq a0 fad
T ATET B |
Write short notes on the following :
(a) Multi processor operating system
(b) Demand paging
fr=ifafaa o wféra fewoft fasd |
(@) FeduraaR SffwfeT Riven
(@) feuis ufsi
OR (3121d)
Explain various file extension with details about it.
faftr=1 vIde T I Bl fedd ¥ wHsmA |

Explain recovery from deadlock.
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(W) fes @il e /81 fearsw
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Which module gives control of the CPU to
the process selected by the short -term
scheduler?

(a) Dispatcher

(b) Interrupt

(¢) Scheduler

(d) None of the above

e e Ag¥] gRT JAfa Ui @)
@ @1 g T dglel S Afsya adm a—
(ar) fest=R

@) =<

(%) Rrsger

(]) s & PIg L

Which of the following operating system
reads and reacts in actual time?

(a) Quick response system

(b) Real time system

(c) Time sharing system

(d) Batch processing system

P.T.O
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(]) wR®H (2) aHIH

(vii)  Which of the following conditions in not
responsible for a dead lock to occur?
(a) Mutual exclusion
(b) Wait and hold
(c) No preemption
(d) Semaphore

(vii) SIH A I G HSIE Ssdid & foly

Saverfl 18 87
(31) FI3rel TaadSI

GROUPB (H) e — -
Answer all Five Questions. (@) = =
4x5=20 (®) B

gl ufg yel & SR
(viii)  Which of the following is not a direct function

2.  What is the necessary of an operating system? of an operating system.

Explain. (a) I/o operation

4 (b) Memory management
ATRIET Rices & T AMTTAHAT 872 (c) Resource management
AT HY (d) DBMS
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In which type of the following OS, the
response time is very crucial.

(a) Network operating system

(b) Real time operating system

(c) Batch operating system

(d) Unix operating system

3 9 3. 9 @ fe9 yeR # YW
<I$¥ 9gd Wecdyvl srdl =7
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Which of the following windows do not
have start button:

(a) Windows Vista

(b) Windows 7

(¢) Windows 8

(d) None of the above
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SIGNAL and WAIT operations are related to
(a) Multi programming

(b) Semaphore

(c) Preemptive scheduling of process

(d) None of the above

e vd de 3ty feaa G&foa @
(31) #edY gl
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Which of the following is not an operating
system?

(a) WINDOWS

(b) PASCAL

(c) UNIX

(d) MS DOS
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9.

10.

Explain the concept of distributed operating
system.

fSEfiecs ey Rieeq & I@urRem at
AT B |

OR (312f1an)

Enlist different page replacement algorithms.
and explain any one.

fafr=1 991 Rwdc seniRed @ gdiag
& Uq fedl Uh B AT B |

Explain various deadlock prevention methods.
Ssdie Udea & A= e &1 fad |
OR (3121a1)

What is I/o management? How files are handled
by an OS.

$Yc /3MScyc Yee 4T 8 | Ug
ATRFET Rieed gR1 &9 g Bidl & |
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9.

10.

Explain the concept of distributed operating
system.
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Enlist different page replacement algorithms.
and explain any one.
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Explain various deadlock prevention methods.
Ssdie fUdea & faf= el &1 fad |
OR (3121a1)

What is I/o management? How files are handled
by an OS.
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